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Note: Note: (a) All questions are compulsory.
(b)Marks are indicated against each question in square brackets.

(c) The candidate is allowed to make Suitable numeric assumptions wherever required for Solvmg
problems

(d) Scientific calculator is allowed

Quest.(1) Examine the convergence of the series - (CO-1) [3]
Z L (nt+ )
Quest.(2) Expand f(x,y) = 5x? — 3xy + 2y% + x — 2y + 9 in Taylor’s series of maximum order about the
paint (—1,1%. (CO-2)[3]
Quest.(3} Test whether the equation (4x + 3y + 1)dx + (3x +2y 4+ 1)dy = 0,is exact and hence
solve it (CO-3) [3]
Quest. (4) (a) Find the complementary funcuon (C F. ) of (C0-4) 13+3]

(D —2)%(D%-2D + 6)v = e* cosx.
(b) Find the partlcular mtegral (P.L) of

Quest.(3) C alculate the standard dev1at10n for the following data which represents the wages

of 230 workers. (CO-5) |5]
70-80 | $0-90 | 90-100 | 100-110 | 110-120 | 120130 | 130-140 140 - 150
. - N ‘ —
12 8 35 42 50 45 0 | s
[
Quesnf6) Find the median {or the following frequency distribuiion. (CO-5) 4]

— g -

o] 1054155 | 155-205 | 20.5-255 | 25.5-305 | 30.5~35.5 355405
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Quest.(7) The population of 4 town in the decennial census was given below. Estimate the population for year

1693, by using Newton’s forward difference interpolation formula. (CO-5) [5]
1691 1701 1711 1721 1731
41 60 78 91 100

Quest.(8) (a) Perform three iterations of the Newton-Raphson method to determine a root of th:ergzauéfipn .
x}—4x-9=0. R
Take the intial approximation x, = 2.625,

o

) Evaluate "4 ™ dx, usinz Simpsen’s /3 ole with L= 0.2, g g [3403)
0 B o i E J



